I11. Simulated Images of a Star Field
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Stellar Parallax Answer Page

Measured distance between stars A and B in cm to 2 decimal places: = 4.00”
Computed chart scale from above data (divide arcseconds by cm): (“/cm)
Measured x and y coordinates of Star C on Chart 2: x = cm, y= cm.

From Chart 1:

Measured total annual displacement of Star Cincm = .......ccccccvvviiiiiiiiinnnnnns cm.

Total annual angular displacement (TAAD) in arcseconds = ..........cccceeeeeennn.

Parallax, p, of Star C in arcseconds (1/2 of TAAD) = ......oviiiiiiiiiiiiiinn,

Heliocentric distance of Star C in parsecs (HD =1/p) = ...coooiviiiiiiiiiiin, pc.
Take origin to be at star & for *y-axis

measuring X and Y values for the
position of Star C.

Protractor set to draw line perpendicular to the line
connecting stars A and B on chart 2 and again on
chart 1 to locate the second position of star C.

Star C on chart 1

Align this line along 90 deg.
ﬁ\\ mark on protractor

+X-axis



